z#&E— 5 &

) = B /=2 e |- uE J SRS TS
H%G\’._;\é 2019¢\F£L‘R J %EBIJ:RR?£$*%HEfiK SAELE1FIE (8 - #)
e 'F@ﬂ (X3 —F - 19280151) DA OB LRGBS (REFT— F - 282040)
A Jlas  ae éf;ﬂ;{ 1 24 34 4 54 64 74 8t
13 4 100m 88 FIY0-LYRY 127 (4) 14.29 |2V ooz @) 14.36 | &2 1% 4) 14.58 | % #HiK(4) 14.61 |5 B (4) 14.92 |52 BERW 15.00 | K#H #E4) 15.18 |48 s (4) 15.33
id HERRE L GRBRTH) +0. 7 | R=ERC ($EFET) +0. 7 | RERC ($EE&T) +0. 5 | fiATE b (F5ER) +0. 7 |35 (BERE ) +0.5 | 1130 (#1135 E8) +0. 8 | 12U (#hIEER) +0.7 | B EfE (BAAT™) +0.3
13 5 100m 59 #r R (5) 13.12 [/hA #5F (5) 13.55 | KA [ (5) 13.88 [HS iz (5) 14.00 |BE #EHE(5) 14.19 |BRIR  BREE (5) 14.23 |2 BF (5) 14.35 |8k RX(6) 14.37
F 2@ (2Rt +1.3 |FE (WFE™) +0. 0 |JLFHIENAC (W ) +1.2 | WA B (NEE) +1.2 | FIL GEREH) +0.7 | B& (Tl +1. 1 |7AAVAC (BB ) +1. 3 | #ATbE £ (RIAER) +2.0
k s 8 1oom | 75 |BAF B 12,11 |5 B(6) 12.51 | EE  1&34(6) 12.73 |1LisE K8t (6) 12.901 Bl #&(6) 1311 | KE B (6) 13.45 |5 48¥R(6) 13.47 |sh4t  HEE (6) 13.53
F EH (fz20th) -0. 1 | BIR (BERR ) -1.2 |13Y FBeE (MEE) -1.1 |BiE GERE™) +0. 2 | K (JERR ) -1.2 |TRINITY. AC (h0 &7 25) -1.2 |95 (BERR ) +0. 2 |35 (GERE) +0.2
13! 8] 1500m | 20 f5E BAK(5) 4:45.69 |BE —iA(5) 4:49.30 3EA 1 (5) 4:54.71 | Z4REFRF (5) 5:05.87 | KfE E¥i(5) 5:06.95 |/\I& #EF (5) 5:07.58 |#kE =% (5) 5:12. 45 | GHERMA (5) 5:15. 63
F B [ (&) JtiEJRC (BRYT) JtEJRC (BRbTH) L HEENAC (0 F ) JtEJRC (ERbTH) TRINITY. AC (07 £B) WA BpEE £ (0 ER) i JRC (FHig )
5 1158 1500m | 40 |ME 8K (6) 5:00.79 |/\U& 4 (6) 5:02.80 [#3F &S (6) 5:02.85|7— K X(6) 5:03.63 |8  fEK(®6) 5:04.04 A0 153} (6) 5:04.69 |iEE 13R% (6) 5:05. 11 &)l &2 (6) 5:10.43
F BE BAaTH) TRINITY. AC (A0 EB) 4t ;EJRC (BRbTH) R ERC (JERE ™) B 4 2%AC(Z HETH) 1t EJRC (BT RERC (JERE ) KSSRC (0 &R)
13 # 8 0mH 1" BHE &t 6) 13.25 |FF#r  —RE(6) 13.49 AT E&£(6) 13.83 [ILA KX (6) 14.01 |ki#E 185 (6) 15.09 |2A K (6) 15.62 | &k &M (5) 16. 69 [ 7% (6) 18.20
i W (JERR ) +2.3 | BE (JERR ) +2.3 | iR (JERR ) +1.8 | (JERRTH) +1.8 | K (JERR ) +1.8 | (JERRTH) +2.3 |BIR (JERR ) +2.3 | WA (JERRTH) +1.8
. 2w (BRI 51.12 | &M (;=2 D) 52. 23 | k5 (BEER ) 53. 49 | B IR (JEEK ) 53.82 | (WFA™) 56. 78 | &K (BEERT) 58.05 | 5| (BEERT) 59. 28 | HiE (3EERT) 59. 89
v RE 1&4%(6) INRFFHIEST (6) %@ #55(6) AR F01E (6) A K 6) I BE(6) HER G A #E0)
1/3 ;a 4x100m| 14 SF BK(6) Eis BErE(6) fft  HKEE (6) BA R (6) i (G2 (6) &H# —F6) B Tk (6) FH #HEG)
HE K% (6) lia $R#ER (6) fmE -3 6) E=1: - N HEE  #R&E (6) AL 9 (6) HR ERG) e F3+06)
LSO WA B3 6) X& #—(6) HxT  B@6) wEHE  EF6) WT E&E6) WA MK E6) ER EXEG)
5 B (P 1:01.10 | &E& (B 1:01.75
- ME BWEEG) EAC B3 (5)
11/3 ,;: 4x100m| 5 Wi hwG) F2H ERO)
N 123 (5) A& DE®5)
BmE BHE) SO
1l s £ E 8 3 WA R (5) im0 |54 &% ©6) ml0 | 548 B&#& (5) 1m00
F 5 (BEHH) EXJGT L) | E& @R
7 13 6 . 7 KE #—(6) 1m33 B/ 7T# (6) m30 |#28 &F (6) m21 | HFR 167 6) m21 [ RE 1&4%(6) ml8 | R&NIZE (6) 1m05
id W5 (JERR ) Tt (ERTH) %51 BB %51 BE#ETH) 2@ (ZEH) BE (JERR )
sl sl wme | MR #E(5) 4m23 |REA  HE(5) 3m90 |BTA IR (5) 3m69 |BR BEX(5) m62 | T E(5) 3m51 |FA B4 () 3md9 | &R~ 5) 2 | BE HE®G) 3m30
F hne JIRC (A )11 ) -1.0 | #&EEF (N &) -0.2 |7 »-91-7" AC (hOFFH) -0.6 | BE (JERR ) -1.0 |7 »-92-7" AC (hOFFH) -0.1| %3 ™) -0.9 |3t (& EB) -0.5 |3t (& #B) -0.3
13 6 18 B 14 EER 1 (6) 4m39 |4 HX (6) 4m36 | 5F BEK (6) Am17 \MAK HNME (6) 395 [&H —F(6) 387 |HF ik (6) 3mb1 |#ME  1&iK(6) 3m50 |F/JII EE(6) 3m30
| # IR (BT =1.1 |7 »-92-7" AC (O ) -0.6 | 2@ (ZRAH) -1.3 |BR (JERR ) -1.3 | &K (JERE ) ~0.5 |A8C ASHIYA (B ETH) -0.5 | &K (JERE ) -1.1 | %3 GERE ™) -0.7
5| e in SO 39mi2 | HE HA®G) 21m59
W g | WM e IS GRRS6)
Ml s 2| oo | 1 *;I( g;:kﬁ;f) 41m52
P B PRI I YN0 4Im11 AR fFE6) 32m39 |#HAK  EA(5) 29m14 | & EEAER (5) 24m51 |&AK B (5) 12m05
K i =R (JERR ) =R (JERR ) Jt REFENAC (FF ) =R (JERE ) =R (R )
1| 8 lywumiag 7 |WF K (6) 40m47 |Bb& AL (6) 29m41 |$8k  #K (6) 2Im25 |40 % (6) 26m14 \%EfE K (6) 25m34 |FOE  3RE (6) 21m67
F THRE (W) BIE (JERg ™) L (ERE ) B IR (JERE ) IR (ERR ) A&C ASHIYA (B Eh)
R imm  me TR 14z 241 3t at 54 ot 74 8t
- FEE EEE6) 1912 | @  K#(5) 1759 |BAA  #hH#(6) 1448
;E 1/3 3; AVNA U RA 4 | HTE (GEEET) JL HFENAC (1) T (BRI
14.21 (+1.2)-1m27 14.30 (+1.2)-1m15 16.32(+1.2)-1m18
& BEX K6 2012 |8 HEE (6) 1868 /g% &% (5) 1715 |#%% &2+ (5) 1632 (#8318 FE 3} (5) 1593 | ZE[R BB R ER (5) 1589 [#HA KM ©G) 1563 |R#x 47+ (6) 1476
’& 1/3 ﬁ a2NA 2 BBl 15 | JIIRC (A0 )IITh) B (BB ) EY FpEL (AR ASAGO T&F (BA3kTH) BiE (3EER ) BiE (3EER ) T b (R ER) TRINITY. AC (AN EB)
4m40 (-1. 2)-46m63 3m90 (+0. 0) -46m43 3m83 (+0. 2) -39m82 3m67 (+0. 6) -37m95 3m55 (0. 5)-37m72 3m81 (+0. 5)-33m92 3m69 (+0. 0) -34m29 3m63 (+0. 0) -30m80
SMAB(BEF) 396N SERREF. XFO—HRICRH F # — BT EE A RERE EHREGE
#a ool IE# En
£ . EEW
REETE: bl BE En
% & . EER¥EZER
T E2 ¥ R ZH BE#H B




